@ @&& @ bén phan sb, thir tu cac phép toan
) * 0 * * x *

Tén: Ngay thang: Diém:
I 1 1 1 2 1 2 1
_— e X - — = = —_— - F = X - =
4 4 3 2 S5 2 3 2
2 3 3 3 3 3 1 3
—F —— =X == - —— — X = =
3 4 4 5 2 4 5 2
2 1 3 1 1 1 2 2
Z 44+ Ix o= —4+_-_—xZ=
3 2 2 3 6 2 5 3

I 1 1 1 I 1 1 2
—_F = X —— - = —_F - X - - =
5 3 3 2 2 4 3 5
2 5 5
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@ @(&& @ bén phan sb, thir tu cac phép toan
) * 0 * * x *

Tén: Ngay thang: Diém:
I 1 1 1 1 1 1 7
Z %25 =03) oSt Ixo =
4 4 3 2 3 5 2 3 2 30
2 3 3 3 29 3 3 3 9
—_F - — — X - = — —_— e — e X m =
3 4 4 5 30 2 4 5 2 2
2 1 3 1 5 2 I 1 2 2
44+ x-_=2=1Z —4+ - - xZ=C
3 2 2 3 3 3 6 2 5 3 5
I 1 1 1 17 1 1 1 2 11
_+_X_—_:(—_) —_F - X - - =
5 3 3 2 90 2 4 3 5 60
1 3 11 1 2 3 1
—+tlx=-=l=—==1— ——4x-+4=(—2)
2 5 10 10 5 5 5
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